
Pythagoras’ Theorem states that for any 

right-angled triangle, the square of the 

length of the hypotenuse is equal to 


a


c

the sum of the squares of the length 

of the other two sides.












    b




a2 + b2 = c2








 


NOTE:













The hypotenuse is 
i)
always opposite the right angle 

ii) always ‘c’ in the above equation

Examples

1)
Find the length of the hypotenuse in this triangle.

a = 4.7 cm

b = 8.5 cm

c = ?





Using Pythagoras’ Theorem

    4.7 cm



c




a2 + b2 = c2










c2 =  4.72 + 8.52










c2 =  22.09 + 72.25











c2 = 94.34

                              8.5 cm





c = ( 94.34


 





c = 9.712 878

c = 9.71 cm (to 3 s.f.)














2)
Find the length of the missing side in this triangle.

a = ? cm

b = 4 cm

c = 7 cm




4cm





Using Pythagoras’ Theorem

    









a2 + b2 = c2
    ? cm








72 = a2 + 42




   7 cm




49 =  a2 + 16











49 – 16 = a2
                               






a2 = 33

a = ( 33

a = 5.74 cm (to 3 s.f.)

